#HRBILEA  BURAETHREIRESR

SSHEMUER (BB +=&FEMIERR)
HEBIDEARLANHSEAUREZRSE SREDETES
(B) E315F4818 (B) Sf1243H31H
(BEfi7 : )
BERE HERRE(A) RIEFERE(B) IER(A)-(B)
TTEERBR B HEUNES 4,140, 370 3,842,980 297, 390
TEEFRHSIBMTERINEE 3,983, 530 3,804,100 179, 430
JEEMESIEMERINE 0
TOMMOEHINEE 156, 840 38, 880 117, 960
ENERTRAEESSTING 156, 840 38, 880 117, 960
KB 1,492, 000 1,497, 500 -5, 500
KB 1,492, 000 1,497, 500 -5, 500
FRISEIR 1,090, 000 1,092, 500 -2,500
TR AR BN 143, 000 143, 000 0
RSB 259, 000 262, 000 -3, 000
TR UNES 1,061, 281 1, 055, 000 6, 281
BTN 1,061, 281 1, 055, 000 6, 281
—REBAT RN 1,061, 281 1, 055, 000 6, 281
RERE MBS INGS 14, 257, 860 13,552,979 704, 881
gD ERIER 11, 696, 034 11, 389, 892 306, 142
HiRESEMI BRI 8,825, 156 7, 358, 000 1,467,156
tEftEUAE BRI 93, 000 98, 000 -5, 000
B4ARSHIHFING 144, 000 126, 000 18, 000
A LYSTHAB RN 444,019 596, 584 -152, 565
ITANBHVEZINGS 264, 000 359, 000 -95, 000
RS> TTEE BRI 179, 000 183, 000 -4, 000
BREY -E BN 59, 450 131, 250 -71, 800
BRERT>TA TEEINER 641,170 1,584, 658 -943, 488
Db ElE =S 364, 267 343, 500 20, 767
17| BREIRRESRNR 681,972 600, 000 81,972
| BN 9,900 -9, 900
BhRRsBUNZE 1,398, 300 900, 000 498, 300
ANHLOFESIDBEBN AL BN 900, 000 900, 000 0
FREES RARTIEEfRE BB IR 498, 300 498, 300
HESEE D RINGE 1,163, 526 1,263, 087 -99, 561
—HSE R RN 820, 000 902, 500 -82, 500
mARIZTIHVEED EINER 343, 526 360, 587 -17, 061
ZEERUNGE 23,601, 748 24,130, 638 -528, 890
B SZFEEUNES 23,601, 748 24,130, 638 -528, 890
Xt - 2ABRINR 978, 480 1,118,910 -140, 430
MR EIEZIB - EE BN 11,904, 972 11, 480, 148 424, 824
EEYR— M- BEZ UG 5,728,588 5, 136, 495 592,093
EEIRATI RGBT TSI 4,989, 708 6, 395, 085 -1, 405, 377
BRI 90, 000 20, 000 70, 000
B4 BB TIEBET NG 90, 000 20, 000 70, 000
BE4 BB TIEEET NG 90, 000 20, 000 70, 000
FIHERA 0 0 0
RiEfRS5IHERA 0
[EEHB &SRR S ENAAEE 1,218,031 808, 763 409, 268
EEMB &SRR S ENAREE 1,218,031 808, 763 409, 268
ZOAMOUNZE 130, 606 160, 313 =29, 707
ZOMMOUNZE 130, 606 160, 313 =29, 707
EFRRAABIES 71,906 68,013 3,893
HEINZS 58, 700 92, 300 -33, 600
H—-EREEIINEGSET (1) 45,991, 896 45,068, 173 923,723
AGE 30, 308, 626 29, 257, 894 1,050, 732
RS aRt 18,006, 522 17,746, 416 260, 106
HEHBS 18,006, 522 17,746, 416 260, 106
HEES 6, 254, 672 5, 803, 101 451, 571
HEES 6,254, 672 5, 803, 101 451, 571
RIS RS 1,789,129 1,723,870 65, 259
RIS RS 1,789,129 1,723,870 65, 259
R 0 0 0
RiE 0
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BESHEMER (B +=%5FEMNIE/M1R)
HEEBIBEARAIIHHSEIRES SETETESE
(B) E/M31F4818 (&) SH243H31H
(B47 : M)
BENE LERRA(A) SEERE(B) HEH(A)-(B)
e 0 0 0
BRSO ES 0
EERHE 4,258, 303 3,984, 507 273,796
EERNE 4,258, 303 3,984, 507 273,796
EE5- 7,437,521 11, 636, 792 -4,199, 271
RESSRE 100, 900 141,050 ~40, 150
M 100, 900 141,050 ~40, 150
K 0 0 0
AGEHAE 0
e 0 0 0
e 0
HHERE 470,876 414, 531 56, 345
R 470, 876 414, 531 56, 345
REMRE 0 16, 400 -16, 400
REMRE 16, 400 -16, 400
sRpe 118,512 0 118,512
sppe 118,512 118,512
e 165, 866 151,300 14, 566
e 165, 866 151,300 14, 566
- FRA 0
E=Li} = -429, 700 1,730, 725 -2, 160, 425
E=Li} = -429, 700 1,730, 725 -2, 160, 425
e 0
(e 0 0 0
(e 0
] 179, 053 149, 499 29, 554
] 179, 053 149, 499 29, 554
2 9, 000 98, 425 -89, 425
e 9, 000 98, 425 -89, 425
P 0
EH 933, 450 714, 640 218, 810
Ee 933, 450 714, 640 218, 810
s 736, 590 621,760 114, 830
RFR 196, 860 92, 880 103, 980
a0 0
BERRR 80, 750 90, 510 ~9. 760
EERRE 80, 750 90, 510 ~9. 760
e 0 0 0
ERE 0
e 0
S ET 0
TR 0
RS 68, 603 72,848 ~4,245
R 0
EERE 0
RS 68, 603 72,848 ~4,245
e 449, 891 510,205 ~60,314
| HE 449, 891 510,205 ~60, 314
e ey 379, 422 ~379, 422
2| | ew-nws 577,732 586, 352 8,620
g WBEST 288,000 288, 000 0
o ILERFAT 288, 000 288, 000 0
i wAS 289,732 298, 352 8,620
o BiAR 289,732 289, 906 174
B B39 SRR 8, 446 -8, 446
SNESHEEE 596, 202 599, 720 3,518
SNESHEEE 596, 202 599, 720 3,518
LB —F (25— 0
SNBUDEEID 129, 471 119, 912 9, 550
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£S5 "”IT_EM%‘% (BB +=55EMIERFHR)
HEEIDEABRLANE TS EARES %%éibn‘l'
(B) ¥m31F4H1H () ’%?D25E3ﬁ31E|
(BEfi7 : )
BERE HERRE(A) RIEFERE(B) IER(A)-(B)
istEIbEENETIL 245,713 257,924 =12, 211
TR 221,018 221,884 -866
BHE 0
FlRE 0
IRy RO —5E B 650, 276 767,059 -116, 783
IRy RO~ 650, 276 767,059 -116, 783
ITANHVEES 424,000 518,722 -94,722
e EAERE 226, 276 248, 337 -22,061
RS> TATEA—EENEHE 429, 860 424,259 5, 601
RS> TA T A EENEHE 429, 860 424,259 5, 601
RS THTEEE 159, 382 142, 607 16, 775
EREEMHEN B RS 138, 000 138, 000 0
TESMREIMZIEEXE 89, 388 108, 592 -19, 204
AR RS 43,090 35, 060 8,030
wItAEE5E% 19,920 49,942 -30, 022
| EUAEESEXE 19, 985 -19, 985
A fjEmEd 19,920 29, 957 -10, 037
Zite-wihaE 2,925, 546 4,720, 244 -1,794, 698
=R ==t 734, 668 875, 096 -140, 428
ag 712, 600 845, 500 132, 900
=4 3,000 11,500 -8, 500
SETERAIE 3,068 2,096 972
IBERIR 16, 000 16, 000 0
IEGHT R =t 2,190, 878 3,845,148 1,654,270
MALYSZHAEEE 444,019 566, 584 122, 565
FLR Y -E2EE 108, 353 112, 883 -4,530
NS> T17EEE 641,170 1,584, 658 -943, 488
RitREEE 59, 450 131, 250 =71, 800
b ElSEES 255,914 230,617 25, 297
R2EREESE 681,972 1,219, 156 -537, 184
BtiEtE 0
IR e 0
BN IRTESSE 0 0 0
BN IRTESSE 0
HOYiEE 9,684 19, 661 -9, 977
HO>E% 9,684 19, 661 -9, 977
FandLRyNI—-E% 81,100 0 81,100
FansdLRyRI—-E% 81,100 81,100
BHEBZIESEE 0 0 0
BEBEMZIESEE 0
E5i-| 1,946, 586 1,444,752 501, 834
BHEEE 50, 469 60, 130 -9, 661
BHELEE 50, 469 60, 130 -9, 661
REBE 166, 720 245, 780 =79, 060
EHERE 78,720 151, 780 -73, 060
BERERERME 17,000 21,000 -4, 000
FEEaEEAE 25, 000 34,000 -9, 000
EEREEAME 19, 000 20, 000 -1, 000
REREEAME 217,000 19, 000 8,000
HMEE 189, 835 50, 743 139, 092
REHEE 189, 835 50, 743 139, 092
SHIERE 92,038 39, 365 52,673
SHIERE 92,038 39, 365 52,673
28R E 0 0 0
BEMEHRE 0
ENm A E 0 0 0
ENm A E 0
IKENEE 0 0 0
IKENEE 0
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E_SEMNUFEN (BE-1+=%F£MIERFMR)
HESEWEASMAIHSEIRZS BREEHES
(B) ¥M31FE4H18 () Sf24€3831H
(B47 : M)
WENE WERTRE(A) BIERSRE(B) 1E(A)-(B)
BB 0
=E 506, 603 284, 100 222,503
= 506, 603 284, 100 222,503
BIEERE 61,990 71,038 -9, 048
BIEERE 61,990 71,038 -9, 048
23 0 0 0
23 0
[3RE 0
[R3REE 0 0 0
[RiRE 0
LR 0 0 0
=HE 0
R 0
EERIRA 204,072 200, 481 3,591
EERIRA 204,072 200, 481 3,591
R 241,753 241,315 438
R 241,753 241,315 438
RS 40, 200 25, 000 15, 200
Henn 0 0 0
Henn 0
2] 180, 604 165, 592 15,012
2] 180, 604 165, 592 15,012
i) 212,302 61,208 151, 094
i) 212,302 61,208 151, 094
TRREAR 0 0 0
TRREAL 0
HARERS BN 10, 804 16, 186 -5, 382
BEEEA 10, 804 16, 186 -5, 382
SIESEA 376, 000 332, 000 44, 000
2IESEA 376, 000 332, 000 44, 000
RAREEMHHSEEIBLER 144, 000 126, 000 18, 000
ZOMOEIBS LR 232, 000 206, 000 26, 000
HEIAAGE 0 0 0
R EE A 0
T 1,218, 031 808, 763 409, 268
T 1,218, 031 808, 763 409, 268
BILEBA 1,707, 450 1,921,540 -214, 090
ERAS 3 LEEA 1,707, 450 1,921,540 -214, 090
R AR 0 20, 000 20, 000
R AR 20, 000 20, 000
J_ENEBEMT (2) 43,005,018 45,437, 927 2,432,909
YCUEBIEREE (3) = (1) - (2) 2,986, 878 -369, 754 3, 356, 632
SR SRS 917 943 26
SRS SN 917 943 -26
ZOMORIIIESZ AR S AL SN 0
BERSMRADINES 0 0 0
BERSMRADINE 0 0 0
5 g EABEEIFIA 0
| SRR AP LD ABEEIPIA 0
¢ TEEIRALEBPILDIE ASEEEIFIA 0
Z BTSN 0
= iR EIE TR - 0
ff Y EXEBIMGSET (4) 917 943 26
| | BEROEEASER 0 0 0
i EEEHMEALER 0 0 0
f A B PP ISR LD 0
| EEH-L2EFILO 0
| s EEELD 0
EAEEEPILD 0




#HRBILEA  BURAETHREIRESR

SSHEMUER (BB +=&FEMIERR)
HEBIDEARLANHSEAUREZRSE SREDETES
(B) E315F4818 (B) Sf1243H31H
(B47 : M)
BENE LEERE(A) BILEEREL(B) 1E3E(A)-(B)
e ) 0
H-CREESIEMET (5) 0 0 0
Y-CREBIMEREE (6) = (4) — (5) 917 943 -26
EEEREEE (7) = (3) + (6) 2,987,795 -368, 811 3, 356, 606
FERIMEEA DU 587, 000 1,951, 000 —1, 364, 000
‘fé EERIMRA DU 587, 000 1,951, 000 -1, 364, 000
RRIREET (8) 587, 000 1,951, 000 —1, 364, 000
" B &ERE A - W53IA 1 0 1
3 ZOMOBEEEEF A - 51 1 0 1
1 BERURBFSHIERTNSE 1 1
| g | DS SIS I ST AR 1,468, 095 0 1,468, 095
fjﬂ | EE#ES SR S ETEE 1,468, 095 1,468, 095
T | ExRsERASER 587, 000 1,951, 000 -1, 364, 000
EERHEEADER 587, 000 1,951, 000 -1, 364, 000
RRIEMAsT (9) 2,055, 096 1,951, 000 104, 096
SBMEHELE (10) = (8) — (9) -1,468, 096 0 -1, 468, 096
WEREEMEHALE (11) = (7) + (10) 1,519,699 -368, 811 1,888,510
1 AU RIS HEE (1 2) 9,389, 408 9,758, 219 =368, 811
? UEFARMEBNIEEAE (13) = (11) + (12) 10,909, 107 9,389, 408 1,519, 699
g EASHAEE (14) 0
te | EREUHEE (15) 0
i [zofoE SR (16) 0
= oMo amEE (17) 0 0 0
f YN T e e 0
o [ REBRAUEENSRER (18) = (13) + (14) + (15) + (16) - (17 10,909, 107 9,389, 408 1,519, 699




